2010.9.1

H AL — kAt
)= R B A A

av 7Y —hTHEE LA RBRERRE E

. aRBR S 54(2010.8.3)
1.1 7Ly aar7)—h

g1 7| eCEiD | R | w)-NRIE | RROKR |77 |7
(cm) (mm) ® (©) (ke/m") | (om’/em?) ®
W/C50%-18N 20.5 32.8X31.8(32.5) 4.8 28.0 — 0.16 2.80
W/C41%-18N 19.0 32.1X32.0(32.0) 4.9 29.0 179.5 0.16 1.90
W/C38%-45L — 44.0X41.8(43.0) 2.5 29.0 — 0.16 0.18

1.2 [ERESREE(IW 2010.8.10) (4W 2010.8.31
[TiReY

128 Y % A TR A 5022 AR A SR (N/mm )

W Y AW LY
30.7 40.1

W/C50%-18N 30.9 31.1 39.1 39.3
31.7 38.7
42.3 50.3

W/C41%-18N 42.8 42.5 51.1 51.2
42.4 52.1
36.2 61.4

W/C38%-45L, 35.5 35.7 64.7 63.6
35.4 64.8

1.3 vev U7 ik
Py — T30 ETEW L AR HEL L | YRV HUER D 374U AR HEGOR)HT b & L7z,
FoT 30 UNTHILL, +72 W LS ATRE Th o7 LI L7z,

1.4 Yo U E

Bl A O 1% 20 R PEV L L
053%% 1053 1% 40531
Og/m2 OZ kL X X
W/C50%18N 300g/m” X @338@39F| @328
450g/m” X X X
0g/m’| OZfLEEL X X
W/C41%-18N 300g/m” X @418 @35F)
450g/m” X B22F) X
Og/m2 Q% b iEL X X
W/C38%-45L 300g/m” X @26%) @44Fy
450g/m” X @18F) X
Bl A O 1% 24 R PEV L
053 %% 1053 1% 40571
0g/m” X X X
W/C50%18N 300g/m” X ®415 ©20%)
450g/m” X X X
0g/m” X X X
W/C41%-18N 300g/m” X B30Fp ®15%
450g/m” X X X
0g/m” X X X
W/C38%-45L 300g/m” X @30%) @30%)
450g/m” X X X




1.5 e HLFR
OZ& pimL @328

& L @35Fp @418 3227 B30 ®15%»

DAL e eH14Fp

2. ZE2
PLEDOFE RIS EOFEETHIEW LI ATRE TH o7, BLELBINCOWTIL, FAEY . ZZE N2 KT
EDOREIZ W THEEURESE H &0, 155 H O TN RL, HiV N TL000 R BRI B L7 B3R
BlifCtHo7-,




J Yy — 37 40 v 9 R B # B X
= OB OE M B :|FR258H3H
i & : [W/C50%18-20N
REBRERE IS (WEHEERESED | AnFeE | AnT |
B 7E B P @R FEKDORE BBEOTE
(B9 (B9 (cc) RNZE : 248cm & : 25¢n]
13:10 0:00 — PEON ]
13:20 0:10 0.0 A =] 4828](cm)
13:30 0:20 0.0
13:40 0:30 0.5 Vo BREHT-TIKOEH
13:50 0:40 30 A W) -+ Lt EOERE
14:00 0:50 10.4 B 7=V KDEE
14:10 1:00 15.5 Ws : EHMEHPDKOEE
14:40 1:30 28.0 C W) -FDEMNMBEEE
15:10 2:00 40.0 W 2V -tOEGIKE
15:40 2:30 49.0 S HEDEBE=E
16:10 3:00 58.7
16:40 3:30 62.7
17:10 4:00 62.7 vV = 75 (cm®)
17:40 4:30 62.7 A = 482.8 (cm?)
18:10 5:00 62.7 B = 0.0627 (kg)
18:40 5:30 62.7 Ws = 2.242 (kg/m°)
19:10 6:00 62.7 c = 2,261|(kg/m?)
19:40 6:30 62.7 W = 180|(kg/m®?)
20:10 7:00 62.7 s = 28.157|(kg)
20:40 7:30 62.7
=IEEE7-T 109 K(cc) 62.7

7748 - B,=V/A= 0.16 (cm®/cm?)

7Y-T4uE . B,=B/W,x100 = 280 (%)
=L, W,=W/CXS = 2242
7T Uy RER

o 200 T

i~ 189 [
198 |

Kk 129 1

2 8§ -

it 90

(cc) 2§ -

Q O V0 VDN VO VN N VN OO NN O VN OO NN OV O N DD
PP RSP L L S PSS LSS

Bt ]




J Yy — F 40 v 9 R B # B X
= OB OE M B :|FR25F8H3H
i & : [W/C41%-18-20N
REBRERE IS (WEFEERESED | AnFeE | AnT |
B E BFfE @R FEKDORE BREDTiE
(B9 (B9 (cc) RNZE : 248cm B : 25¢n]
13:34 0:00 — PEON ]
13:44 0:10 0.0 A =[__ 4828](cm)
13:54 0:20 0.0
14:04 0:30 0.8 Vo BRERTY-TTKOEE
14:14 0:40 1.2 A WY -t L EOERE
14:24 0:50 4.2 B 7=V KDEE
14:34 1:00 7.4 Ws : E#HPDOKOEE
15:04 1:30 145 C W) -FDEMNMBEEE
15:34 2:00 26.0 W 2V -tOEGIKE
16:04 2:30 30.5 S HEDEBE=E
16:34 3:00 36.9
17:04 3:30 419
17:34 4:00 41.9 vV = 75 (cm®)
18:04 4:30 41.9 A = 482.8 (cm?)
18:34 5:00 419 B = 0.0419 (kg)
19:04 5:30 41.9 Ws = 2.211 (kg/m°)
19:34 6:00 41.9 c = 2,278|(kg/m®)
20:04 6:30 41.9 W = 180|(kg/m®)
20:34 7:00 419 s = 27.976](kg)
21:04 7:30 41.9
=IEEE7-T 109 K(cc) 419

7N-T4V9E : B,=V/A= 0.16 (cm®/cm?
7Y-F 4 E . B,=B/W,x100 = 190 (%)
f=fZL. W, =W/CxS = 2211
7Ty R ER
2B
2 '8 |
& 60 r
(cc) ‘21'8 i

S OO

Bt ]

R MR I G N S S S SN T SN S SN R SN S




J U -7 1« v T & B B R R

R OB OE OB :|[FER224883H
i3 & : [w/c48%-45-20L
HEEETIIES  (MAEREEREEEDI | AnFeE | AnT |
pillatisd ] el FEKORE BBOTE
(B:9) (FF: ) (ce) RNFE - 248cm S : 25¢n
14:31 0:00 — RBOLEAEIE
14:41 0:10 0.0 A = 482.8 |(cm?
14:51 0:20 0.0
15:01 0:30 0.0 \Y; RIEREHT) T KOBEE
15:11 0:40 0.0 A Y-+ EEOEE
15:21 0:50 0.0 B 7T KOE=E
15:31 1:00 0.0 Ws : EHBEFPDOKOE=
16:01 1:30 0.0 o} W -FDEMRIEE=E
16:31 2:00 1.4 W aV))-bDEGIKE
17:01 2:30 39 S HEOBEE
17:31 3:00 39
18:01 3:30 39
18:31 4:00 3.9 vV = 75 (cm®)
19:01 4:30 39 A = 482.8 (cm?)
19:31 5:00 39 B = 0.0039 (kg)
20:01 5:30 39 Ws = 2.131 (kg/m?)
20:31 6:00 3.9 cC = 2,345|(kg/m°)
21:01 6:30 39 W = 175|(kg/m°)
21:31 7:00 39 S = 28.560|(kg)
22:01 7:30 39
=REBF7Y-T 107 K (cc) 39
7748 - B,=V/A= 0.16 (cm®/cm®)
TY-F 4o E . B,=B/W.x100 = 0.18 (%)
=L, W, = W/CXxS = 2131
7 -7 4o Bk
= 790
3 i
160 |
iR
5 -
100 |
ol
(E' 40
cc) 20 |
O - S S S S S o o o S S M

QO O N0 VO VOV OOV O NN OOV O VN OO NN O 0O QN
SPPELELLE L P L F S F LS LSS

Bt ]




